Northshore Christian Grammar School





ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "TYHM" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

Your Home Delivery order will be dispatched no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the cut-off date of Friday 15th December 2023.

The delivery service is \$8.00 for orders placed on or before the 15th December 2023. After this date a delivery fee of up to \$17.50 will be charged.

Please allow sufficient time for this delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Your Campion Store 751 MARSHALL ROAD MALAGA WA 6090 Contact Us 08 6240 2778 wasales@campion.com.au

Please tick the items required in the box provided

			\checkmark				
		ltem	ltem	Qty	Unit	Total	
ice Use	Description	No.	Reqd	Reqd	Price \$	Amount \$	

Year 8 Please note that there are digital products (eCode or cCode) on this Resource List. These products are single user licenses and are only valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged if you do change your mind, even if you haven't used or activated them. We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects. Please allow sufficient time for digital resources to be processed and made available to the student after purchase. When ordering after the cut-off date, some items may go to backorder and need to be reordered from the supplier. **STATIONERY** 2 Eraser Plastic Pencil Economy in sleeve 1 0.56 1.12 Glue Stick 40gm Artline Clear 2 2 2.20 4.40 3 6 16 Highlighters Pkt 4 Assorted 1 6.16 4 Pen Ballpoint Cap Type Blue Medium 4 0.28 1.12 5 0.28 Pen Ballpoint Cap Type Black Medium 4 1.12 Pen Ballpoint Cap Type Red Medium 6 4 0.28 1.12 7 Pencil Case 340x170mm Name Large 1 2.72 2.72 Pencil (HB) Goldfaber 8 2 0.52 1.04 Ruler 300mm Wooden 9 1 0.88 0.88 Sharpener Pencil Metal Double Hole (HQ) 10 1 0.92 0.92 Select either RIGHT or LEFT handed scissors Choose One 1 Scissors 170mm Maped Plastic Handle 11 1.84 1.84 - OR -Scissors 165mm Left Handed Green 12 1 2.16 2.16 BUSINESS Exercise Book A4 96 Page 8mm with Margin Spirax #108 13 1.32 1.32 1 **CHRISTIAN LIVING** Exercise Book A4 96 Page 8mm with Margin Spirax #108 1.32 1.32 14 1 DIGITAL TECHNOLOGY **Farphones Farbuds Kids** 15 1 10.28 10.28 Alternative Earbuds are acceptable. USB Pocket Flash Drive 32GB - NO RETURNS 16 1 11.24 11.24 Any USB Drive with comparable capacity is acceptable. Please reformat second hand or previously used USB Drives prior to bringing them to school. DRAMA General stationery required; no set text for this subject. ENGLISH Oxford WA MyEnglish 8 (Print&Digital) 2E [Williams] 17 1 26.96 26.96 Exercise Book A4 96 Page 8mm with Margin Spirax #108 2 18 1.32 2.64 Exercise Book A5 64 Page 8mm 19 1 1.68 1.68 Display Book A4 20 Pocket Clear Cover Black Refillable 20 1 1.84 1.84

Offic

P55522

P51685

P50613

P56095

P56094

P56096

P56213

P50271

P50090

P56243

P50161

P52399

P50451

P50451

P52497

P52086

P00905

P50451

P51080

P50131

	FOOD TECHNOLOGY				
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	21	1	1.84	1.84
	Students must purchase a container to take food home after each lesson.				
	HUMANITIES & SOCIAL SCIENCES				
P11070	Oxford Big Ideas WA Humanities & Soc Sci 8 (Print&Digital) [Saldais]	22	1	62.96	62.96
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	23	2	1.72	3.44
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	24	1	1.84	1.84

Please tick the items required in the box provided $\ \downarrow$

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	INDONESIAN					
P50779	Exercise Book A4 48 Page 8mm with Margin Spirax #100	25		1	0.96	0.96
	MATERIALS DESIGN & TECHNOLOGY (WOOD)					
50131	Display Book A4 20 Pocket Clear Cover Black Refillable	26		1	1.84	1.84
250271	Pencil (HB) Goldfaber	27		1	0.52	0.52
	MATHEMATICS					
50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	28		3	1.72	5.16
50131	Display Book A4 20 Pocket Clear Cover Black Refillable	29		1	1.84	1.84
56353	Protractor 10 cm 180 4" Half Circle	30		1	0.36	0.36
256409	Ruler 150mm Plastic Clear	31		1	0.68	0.68
255343	Compass Micador Self-Centering 140mm Safety #325	32		1	1.00	1.00
51933	Calculator Abacus Scientific SXIIMATRIXN	33		1	43.95	43.95
	(Retain from previous year. Replace as required.)		_			
	Please select ONE of the options below:		<u>Choose One</u>			
	OPTION 1: Print & Digital					
P17441	Cambridge AC Essential Maths CORE Yr8 (Print & Digital) [Greenwood et al]	34		1	65.66	65.66
	- OR -					
	OPTION 2: Digital Reactivation					
ER20520	Digital Camb AC Essential Maths CORE 8 Reactivation Code	35	DIGITAL ITEM	1	24.95	24.95
	Only purchase the reactivation code if your child has purchased a secor (Once purchased, even if you have not activated or used the reactivation code or exchanged if you change your mind.)					refunded
	MATHEMATICS ADVANCED					
50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	36		3	1.72	5.16
50131	Display Book A4 20 Pocket Clear Cover Black Refillable	37		1	1.84	1.84
56353	Protractor 10 cm 180 4" Half Circle	38		1	0.36	0.36
56409	Ruler 150mm Plastic Clear	39		1	0.68	0.68
55343	Compass Micador Self-Centering 140mm Safety #325	40		1	1.00	1.00
51933	Calculator Abacus Scientific SXIIMATRIXN	41		1	43.95	43.95
	(Retain from previous year. Replace as required)		—			
	Please select ONE of the options below:		<u>Choose One</u>			
	OPTION 1: Print & Digital					
P18397	Cambridge AC Essential Maths Yr 8 (Print & Digital) 3E [Greenwood et al]	42		1	65.66	65.66
	- OR -					
	OPTION 2: Digital Reactivation					
E20196	Digital Camb AC Essential Maths 8 Reactivation Code 3E	43	DIGITAL ITEM	1	24.95	24.95
	Only purchase the reactivation code if your child has purchased a secor (Once purchased, even if you have not activated or used the reactivation code					refunded

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MUSIC					
P01696	Master Your Theory Grade 1 (Revised edn) [Dulcie Holland]	44		1	17.96	17.96
P55907	Music Book A4 48 Page Feint & Staved	45		1	1.96	1.96
P51006	Document Envelope A4 PP With Press Stud Blue	46		1	1.00	1.00
	PHYSICAL & HEALTH EDUCATION					
P55542	Exercise Book A4 48 Page 18mm	47		1	1.04	1.04
	SCIENCE					
P11103	Oxford WA Science 8 (Print&Digital) [Silvester]	48		1	67.46	67.46
P54142	Lecture Pad A4 7mm 140 Pages Side Opening Spirax #907	49		2	2.68	5.36
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	50		1	1.84	1.84
	VISUAL ARTS					
P58537	Pencils-Coloured 12's Faber Classic Colour	51		1	5.16	5.16
P56677	Visual Art Diary A3 60 Sheet 110gsm	52		1	7.96	7.96
P52001	Pencil (2B) Goldfaber	53		2	0.52	1.04
P52014	Pencil (6B) Goldfaber	54		1	0.52	0.52
P55831	Adhesive Tape Masking 24mm x 50m	55		1	4.24	4.24
P50209	Brush Water Colours Round Squirrel #3060V/3	56		1	6.96	6.96

Number of Boxes ticked:

1			
1			
L			

\$8.00

ESTIMATED AMOUNT DUE (PRICES CORRECT AT 17/11/23)

Postage (Home delivery only)

\$